ROBOT MODULE™ MR SERIES

High precision motor ready linear system adaptable to common motor
sizes including NEMA 23, 34 and 60mm metric frame motors.

STAY IN MOTION. STAY IN CONTROL.



QUICK REFERENCE

RS Module
Pages 12 & 13

RM Module
Page 15

= = i il =

Combining Brackets \—/
Pages 38 to 40 RH Module
including extended stroke

Pages 16 & 17

Support Slide
Pages 36 & 37

Multi Axis
Combinations
Pages 22 to 35

Motor Mounting Kit
Pages 18 & 19



TABLE OF CONTENTS

GENERAL INFORMATION, FEATURES AND CAD DATA DOWNLOADS ... ..ottt 4
L 34010 L o RSP PPSSR 5
APPLICATION EXAMPLES ... .ottt et ettt ettt e h ekt e et o2t e E e e et e et e e et e e et e et e e et 1ot e e e st e st ee ettt e et entean e et e nneeneeeneennee 6
REFERENCE NUMBERS, MOTOR MOUNTING POSITIONS AND LIST OF MODULES ..........oooiiiiiiit et 8
SINGLE AXIS SELECTION ...ttt ettt et e st e e et e et oot ee ekt e et oot o2t e e R 2ot e a st ee e ee e e et e st es e ee et e e et es e e en e et e e et eneeaneeenees 10
RS MODULE = LEFT MOTOR MOUNT ...ttt ettt et oot e et e 2t oot e et e e e e s et e et e ke e e et et en e et e e et et et eeeeeneeeneenee e 12
RS MODULE = RIGHT MOTOR MOUNT ...ttt e et ettt oot e e e o2t e et e et et e e st e et et e et e st em et e e et et et e eneeneeeneeneeanes 13
RM MODULE ...ttt etttk e et e e et E ekt e m st 22 et ee e e h £ e et e e et 4o et e et ek £ e e et oot e et e et e et en e R e eR e ettt E Rt n et en e et e ne e enes 15
L I 10T 0 SRS 16
RH EXT STROKE MODULE ... oottt etttk e et o2t e ookt e et oot e et E e e et oot oot e e e et e st em e ee ettt e st e s e em e et e et eneeeneeeneenneennes 17
MOTOR MOUNTING KITS ...ttt ettt et e e ettt et e Rt E e e h e o2 et oot e ekt e e et ee e e E e e nb e e st e e m bt et e e et et et e eneenneenneeneeenes 18
MOTOR INTERFACE DIMENSIONS. ... oottt ettt h ettt oot e et e h e e et ee e e et et e e et ee e e E e e eh e e st em e e et e e et et et eneenneenneeneeenes 20
2 AXIS COMBINATION OVERVIEW ...ttt ettt e e e et et h e e e et e st oot e et et e e et e et e et e ene e et e et ereeeneeteenteeneenneeneens 22
COMDINGEION TYPE: RG-MS ... ..ottt a ettt s e sttt e st e e e et 23
COMDINGEION tYPE: RG-HM. ... ...o.oiiiiiiii ettt ettt e et 24
COMDINGEION TYPE: RD-MS ..ottt e s ettt s et e e et s e et et e e 26
COMDINGEION tYPE: RD-HM. ... ...o.o oottt ettt s e 27
COMDINGEION tYPE: RXHM ..ottt s et s et s et et e s et et 28
COMDINGEION TYPE: RXHH......oooiiiiiiii ettt s et et e e e e s e e 29
COMDINGEION TYPE: RC-MS........oioioiiiieee ettt ettt s st e et s e e et e et s et e s st 30
3 AXIS COMBINATION OVERVIEW ...ttt ettt ettt et f e ettt et e et oot et e et e e et e et e et e e et e n e ereeeteeteenteeneenneeneenn 31
COMDINGEION tYPE: RP-HMS ... oottt ettt s et e e s et a et et s ettt et 32
COMDINGEION tYPE: RP-IMSS ... ..ottt ettt s et e et s s a ettt s ettt 34
COMDINBEION tYPE: RJITHMS ......oooooiii ettt ettt ettt 35
ACCESSORY SUPPORT SLIDE FOR COMBINATION TYPES: RG-HM & RP-HMS ....... ..ot 36
COMBINING BRACKETS ...ttt ettt et e oot e e e h e et em st e £ e e et et e et ee e ee e et et e ee e oo et e e et oot em e en e e et em st emeeeteeteenteeneesneenneens 38
MODULE MOUNTING PLATES ...ttt ettt ettt e e et et e e e oot e h e e s £ e e et ee e e et e et e e et ee e eh e e ee e e et et e et e e et e neeneeeneeeneenneenee e 41
LIMIT SENSOR KITS .ottt ettt ettt h et e et o2t 1ot e et e et e e st oot e E e e E £ oo et oot e et e et e e et e et e e e ee e e st e m b e et e e e seemneeneeeneenneenneeneeanes 42

SQUARE NUT FOR MODULE T=SLOTS ...ttt ettt bttt ettt ettt ettt 43



GENERAL, FEATURES AND CAD DOWNLOADS

GENERAL

Robot Modules are complete linear axis high precision systems for semiconductor, electronic, medical and automated assembly and
production applications. High-quality NSK Linear Guides, NSK Ball Screws and NSK Monocarriers ensure high level of mechanical
reliability and U.S. manufacturing results in faster product delivery. NSK offers this sophisticated technology in an ergonomic design
enclosed in an aluminum housing. The motorless design of these Robot Modules allows users the flexibility to choose their preferred
motors when designing new systems or automating existing processes.

FEATURES
Utilization of NSK Robot Modules provides the
following advantages:

» NSK components ensure high mechanical reliability of each axis
resulting in systems with high rigidity, long life and smooth
motion.

> Reduced time and labor costs associated with a pre-assembled
axis.

» 3 different types available - RS (small), RM (medium) and RH
(heavy) to meet application stroke and payload requirements.

» Standard patented K1™ Lubrication Units on the NSK Ball Screws,
Linear Guides and Monocarriers provide maintenance-free
operation up to 10,000 km or 5 years.

» Combination brackets are available for attaching individual Robot
Modules together into two- or three-axes configurations.

» Module Mounting Plates are available for attaching Robot Modules
to your machine.

> Motor Mounting Kits are available for 60mm metric frame, NEMA
23 and NEMA 34 motor interfaces.

> Optional Stroke Limit and Home Position sensor kits.

> Motorless design offers user flexibility for motors of choice.
> Most Robot Modules sizes available from stock.

> Equipped with seal belt for dust proofing.

SolidComponents™

CAD DATA DOWNLOADS

Module Construction

Motor
Mounting
Interface

Module Main Body

T-Slots for Mounting
Accessories

NSK has partnered with SolidComponents™ to offer you easy access to CAD files and technical information. Visit SolidComponents
(http://npa.solidcomponents.com) to download CAD files and technical information.



PRODUCT LINE

Multi Axis Combinations
(Pages 22 to 35)

RS Module RM Module RH Module
(Pages 12 & 13) (Page 15) (Pages 16 & 17)

i = 3
Motor Mounting Kit Support Slide Combining Brackets
(Pages 18 & 19) (Pages 36 & 37) (Pages 38 to 40)



4 - Loader/unloader for inspection device
6 - Work feed in stamping machine

2 - Palletization of
electronic parts

5 - Screw-tightening machine in assembly line

w N
[« ...me
=y - O
£ £3
=

(Y]
x S2
— —
[S) .HH.O
— < =
[ -
..q. g 9
2 ==
o am
= S &
I I
- (ap]

n
L
—
o
=
<
>
L
Z
=
=
<<
=
-
o
o
<<




Flas
10 - Parts loader/unloader for processing machinery

8 - Deflashing device for
core of sand mold

9 - Polyethylene can processing machine

7 - Automobile taillight bonding




REFERENCE NUMBERS

The reference number for the Robot Module is composed of the basic specifications of the unit.

BALL SCREW LEAD MOTOR INTERFACE
1: 10mm A: Metric
STROKE EX. 2: 20mm B: NEMA 23
010: 100 mm 4: 40mm N: No motor interface
XY-HRS 010 - RS 1 L A F
ROBOT MODULE TYPE MOTOR MOUNTING ASSEMBLY
RS: small st Straight F: USA
RM: Medium L: Left Motor
RH: Heavy R: Right Motor

RS Module ordering directions

The RS Module is delivered with right or left motor mounts pre-assembled. It is not available in a straight motor mount configuration or with no
motor mount attached. The RS Modules are available with metric or NEMA 23 motor mounting hole patterns.

RH and RM Module ordering directions

Both the modules and motor mounting kits are purchased separately. Motor mounting kits for the RM and RH modules are available with metric,
NEMA 23 or NEMA 34 motor mounting hole patterns.



Straight Motor

Straight

I

List of Modules

ROBOT
MODULE

RS Type
RM Type
RM Type
RH Type
RH Type
RH Type

Notes:

100 200

300
250
250
300
300

Slider

Main unit

400
350
350
400
400

450
450

1) If your payload exceeds listed value contact NSK.

2) The individual moment capacities are defined as the value at which the fatigue life is 10,000 km when that moment acts continuously on the linear guide.

STROKE (MM)

500

500 600
500 600

Right Motor

750
750

800
800

Right

|

Slider

Main unit

950
950

1000
1000

1200 1400
1200 1400

1600
1600

1800
1800

Left Motor

10mm

10mm
20mm
10mm
2000  20mm
2000 = 40mm

Left

i

Slider

PAYLOAD, KG!

HORIZONTAL |VERTICALROLLING|PITCHING| YAWING
20 20 32 24 24

40
40
200
80
80

40
20
40
20
20

Main unit

LINEAR GUIDE

MOMENT

CAPACITIES NM2

70
70
600
600
600

120
120
450
450
450

120
120
400
400
400



SINGLE AXIS SELECTION

RS Module - Left Motor Mount

REFERENCE NUMBER MOTOR MOUNTING KIT MODULE MOUNTING PLATE LIMIT SENSOR KIT SQUARE NUT

XY-HRS010-RSTLAF
XY-HRS020-RS1LAF
XY-HRS030-RSTLAF
XY-HRS040-RS1LAF
XY-HRS050-RSTLAF
XY-HRS010-RS1LBF
XY-HRS020-RS1LBF
XY-HRS030-RS1LBF
XY-HRS040-RS1LBF
XY-HRS050-RS1LBF

Pre-installed XY-P170S-2 XY-L3544RM XY-P170M3-1

RS Module - Right Motor Mount

REFERENCE NUMBER MOTOR MOUNTING KIT MODULE MOUNTING PLATE LIMIT SENSOR KIT SQUARE NUT

XY-HRS010-RSTRAF
XY-HRS020-RSTRAF
XY-HRS030-RSTRAF
XY-HRS040-RSTRAF
XY-HRS050-RSTRAF
XY-HRS010-RSTRBF
XY-HRS020-RS1RBF
XY-HRS030-RS1RBF
XY-HRS040-RS1RBF
XY-HRS050-RSTRBF

Pre-installed XY-P170S-2 XY-L3544RM XY-P170M3-1

RM Module - Straight Motor Mount

REFERENCE NUMBER MOTOR MOUNTING KIT MODULE MOUNTING PLATE LIMIT SENSOR KIT SQUARE NUT

XY-HRS025-RM1SNF
XY-HRS025-RM2SNF

XY-HRS035-RM1SNF XY-P5586RM (NEMA 23-1/4" shaft)

XY-HRS035-RM2SNF or
XY-HRS045-RM1SNF XY-P5587RM (NEMA 34-3/8" shaft)
XY-HRS045-RM2SNF or .
XY-P5588RM (Metric) XY-P170M-1 XY-L3543RM XY-P170M3-1
XY-HRS055-RM1SNF or
XY-HRS055-RM2SNF XY-P5717RM (NEMA 23-3/8” shaft)
XY-HRS075-RM1SNF or )
T XY-P5718RM (NEMA 34-1/2” shaft)

XY-HRS095-RM1SNF
XY-HRS095-RM2SNF

10



RH Module - Straight Motor Mount, Stroke < 1000mm

REFERENCE NUMBER MOTOR MOUNTING KIT MODULE MOUNTING PLATE LIMIT SENSOR KIT SQUARE NUT

XY-HRS030-RH1SNF
XY-HRS030-RH2SNF
XY-HRS040-RH1SNF
XY-HRS040-RH2SNF
XY-HRS050-RH1SNF
XY-HRS050-RH2SNF
XY-HRS060-RH1SNF
XY-HRS060-RH2SNF
XY-HRS080-RH1SNF
XY-HRS080-RH2SNF
XY-HRS100-RH1SNF
XY-HRS100-RH2SN

XY-P5586RM (NEMA 23-1/4" shaft)
XY-P5587RM (NE?\;\A 34-3/8" shaft)
XY-PSSSSSI(/\ (Metric) XY-P170H-1 XY-13542RM XY-P170M3-1
XY-P5717RM (NE%\A 23-3/8" shaft)
XY-P5718RM (NE?\/r\A 34-1/2" shaft)

RH Module - Left and Right Motor Mount, Stroke > 1200mm

REFERENCE NUMBER MOTOR MOUNTING KIT MODULE MOUNTING PLATE LIMIT SENSOR KIT SQUARE NUT

XY-HRS120-RH2SNF
XY-HRS120-RH4SNF
XY-HRS140-RH2SNF
XY-HRS140-RH4SNF
XY-HRS160-RH2SNF
XY-HRS160-RHASNF
XY-HRS180-RH2SNF
XY-HRS180-RH4SNF
XY-HRS200-RH2SNF
XY-HRS200-RHASNF

XY-P5743RM NEMA 23, 1:1

XY-P5744RI\/\OI£IEMA 23,241

XY-PSMSRN\O!(IEN\A 34,11

XY-P5746RN\O!£IEN\A 34, 211 XY-P170H-1 XY-13542RM XY-P170M3-1
XY-PS747RI\(;\r/\Aetr|c, 1.1
XY-P5748R/\3\rl\Aetric, 2:1

1"



LEFT MOTOR MOUNT

MOTOR INTERFACE
STROKE EX. BALL SCREW LEAD A: Metric
010: 100 mm 1 10mm B: NEMA 23
XY-HRS 010 - RS 1 L A F
TYPE MOTOR MOUNTING ASSEMBLY
Rs: Small L: Left Motor F: USA
Note: Reference number designates modules with motor mounting kit.
NOMINAL | STROKE SPEED PAYLOAD KG1
REFERENCE STROKE, | LIMIT +/- |BALLSCREW L SB MAX INERTIA BREAKAWAY | MASS BACKLASH
NUMBER MM 2MM , MM MM MM/S KG-M2 TORQUE, N-M KG VERT
XY-HRS010-RS1L*F 100 110 360 60 130 972 1.58E-05
XY-HRS020-RS1LF 200 210 460 160 180 972 1.74E-05 55 20 20
XY-HRS030-RS1L*F 300 310 10 560 260 230 972 1.90E-05 0.07 6.2 20 20 0.02
XY-HRS040-RS1L*F 400 410 660 360 280 972 2.06E-05 6.8 20 20
XY-HRS050-RS1L*F 500 510 760 460 330 725 2.22E-05 7.5 20 20
2-88H7 x 9 Deep
S x oo 4-M6 x 8 Deep 2-M3 x 6 Dee|
o s oo S A
15,30 _ag / 50
® o f ‘ﬂ o —a{ o o—]
&E g = - - B
L
©) 5 b T Lw < T P
T
~ 1n : : : \L ”””””””” 1
i g ¢ st |
’ = ]
[N
] - WL o ____ J
T | [
I 148.5 1> MOTOR NOT SUPPLIED.
L 2> PULLEYS, TIMING BELT AND MOTOR
ATTACHMENT HARDWARE SUPPLIED.
64 2175
100 N STROKE N 57>
I T - 4’
100 (SB>
S0
Options
REF PAGE
Limit Sensor Kit XY-L3544RM 42 6-88H7 x 10 Dedp
Module Mounting Plate XY-P170S-2 4
[ i
Square Nut XY-P170M3-1 %3 d - oo & o+ & o i3
— — — —— 4Io
. . oge & 4 4 < & & T
Linear Guide Moment Capacities H hd 1
S0 S0
Rolling M t N 33
oling fomen (Nm] 0 10 s& 100 20 \12—»45 x 10 Deer
Pitching Moment [Nm] 25 LENGTH
Yawing Moment [Nm] 25

Note: Maximum input torque is 1.9 N-m

1) If your payload exceeds listed value contact NSK.

2) The individual moment capacities are defined as the value at which the fatigue life
is 10,000 km when that moment acts continuously on the linear guide.

12



RIGHT MOTOR MOUNT

MOTOR INTERFACE
STROKE EX. BALL SCREW LEAD A: Metric
020: 200 mm 1: 10mm B: NEMA 23
XY-HRS 020 - RS 1 R B F
TYPE MOTOR MOUNTING ASSEMBLY
Rs: Small R: Right Motor F: USA

Note: Reference number designates modules with motor mounting kit.

SPEED YLOAD, KG1

NOMINAL | STROKE

STROKE, | LIMIT +/- |BALLSCREW L SA MAX INERTIA | BREAKAWAY BACKLASH,
REFERENCE NUMBER MM 2MM MM MM MM/S KG-M2 TORQUE, N-M VERT MM
XY-HRS010-RSTR*F 360 60 130 972 1.58E-05 49 20 20

XY-HRS020-RSTR*F 210 460 160 180 972 1.74E-05 55 20 20
XY-HRS030-RSTR*F 310 10 560 260 230 972 1.90E-05 0.07 6.2 20 20 0.02
XY-HRS040-RSTR*F 400 410 660 360 280 972 2.06E-05 6.8 20 20
XY-HRS050-RSTR*F 500 510 760 460 330 725 2.22E-05 7.5 20 20

2-88H7 x 9 Dee,
4-M6 x 8 Deep
2-M3 x 6 Deep. 20
4-M5 x 9 IP
48 __1oN\40 |, 40 1 50 BOTH ENDS \ -30_13

| \l
E =S SH e £ 3 d— 1
. . - . d L
] T
A i 1 ©
™ —
T i o g
b o nEd, =N
1 iR ‘
T)DTP'WEliTDR NOT SUPPLIED. /L 777777777777777 J\ : o ‘730
2> PULLEYS, TIMING BELT / [l
AND MOTOR ATTACHMENT 148.5 I
HARDWARE SUPPLIED. J
217.5 64
(57> N STROKE N 100
’7 - T 1
(SB) 100
50 .
Options
REF PAGE
(2o x 10 Dosn %?j!p Limit Sensor Kit XY-L3544RM 42
K / Module Mounting Plate XY-P170S-2 4
o - [ square Nut XY-P170M3-1 Ve
. & & oo b ¢ o & 4 B
o @ & & D & & & & . . oy 2
& D Linear Guide Moment Capacities
S0 S50
50 100 sA 100 S0 Rolling Moment [Nm] 33
LENGTH Pitching Moment [Nm] 25
Yawing Moment [Nm] 25

Note: Maximum input torque is 1.9 N-m

1) If your payload exceeds listed value contact NSK.

2) The individual moment capacities are defined as the value at which the fatigue life
is 10,000 km when that moment acts continuously on the linear guide.

13



14



STRAIGHT MOTOR MOUNT + MOTOR MOUNTING KIT

REF PAGE

BALL SCREW LEAD MOTOR
STROKE EX. 1: 10mm INTERFACE
020: 250 mm 2:20 mm N: No motor interface
XY-HRS 025 - RM 1 S N F + XY - P #¥#%
TYPE MOTOR MOUNTING ASSEMBLY  5586: NEMA 23 - 1/4”
RM: Medium S: Straight F: USA 5587: NEMA 34 - 3/8"
5588: METRIC
5717: NEMA 23 - 3/8”
5718: NEMA 34 -1/2"
NOMINAL | STROKE SPEED
STROKE, | LIMIT +/- [BALLSCREW L SB MAX INERTIA BREAKAWAY | MASS
REFERENCE NUMBER MM 2MM MM MM MM/S KG-M2 TORQUE, N-M
XY-HRS025-RM1SNF 10 778 3.50E-05 0.26 95 40
250 260 586 70 177
XY-HRS025-RM2SNF 20 1556 4.83E-05 0.39 9.0 40
XY-HRS035-RM1SNF 10 778 3.89E-05 0.26 10.5 40
350 360 686 170 227
XY-HRS035-RM2SNF 20 1556 5.22E-05 0.39 10.0 40
XY-HRS045-RM1SNF 10 778 4.28E-05 0.26 115 40
450 460 786 270 277
XY-HRS045-RM2SNF 20 1556 5.61E-05 0.39 110 40
XY-HRS055-RM1SNF 10 778 4.67E-05 0.26 125 40
550 560 886 370 327
XY-HRS055-RM2SNF 20 1556 6.00E-05 0.39 12.0 40
XY-HRS075-RM1SNF 10 650 5.45E-05 0.26 15.5 40
750 760 1086 570 427
XY-HRS075-RM2SNF 20 1300 6.78E-05 0.39 15.0 40
XY-HRS095-RM1SNF 10 583 1.72E-04 0.26 175 40
950 960 1286 770 527
XY-HRS095-RM2SNF 20 1167 1.79E-04 0.39 170 40
Motor Mounting Kits
425,55 SS__ 15
| I 7.5 _ "
QBEELIME%@?X q I; ! NEMA 23 - 1/4” shaft
CUSTONER o mmm o = = ) NEMA 23 - 3/8" shaft
I - - £ - - _ "
L i - | 7 NEMA 34 - 3/8” shaft
g ? NEMA 34 - 1/2" shaft
2-#8H7 x 11 Deep 4-M6 x 9 Deep
2-M3 x & Deep 60mm Frame Metric Motor Kit
4-MS x 8 Deep
EQ SP ON
#50 Deep 3 %98, 4 BCD STROKE 150 67
4-MS x 12 Deep .
W ’555;59 K —
= ‘6| s1 mo—r 0
S i’fé/ i 7
- x ee| =15
Lo it L
®66, 68 BCD
Options
12-M6 x 9 Deep | 200 sA ‘ 200 42
‘ = ‘ —— re Limit Sensor Kit
i k3 £ 3 3 + 3 ES s .
Module Mounting Plate
QOO
oo - - - 190 Square Nut
q ¢ & > ¢ & & > & @
100 gl

Note: Maximum input torque is 3

6-88H7 x 11 Deep

.8 N-m

1) If your payload exceeds listed value contact NSK.
2) The individual moment capacities are defined as the value at which the fatigue life
is 10,000 km when that moment acts continuously on the linear guide.

SB

Linear Guide Moment Capacities

Rolling Moment
Pitching Moment

Yawing Moment

40
20
40
20
40
20
40
20
40
20
40
20

XY-P5586RM
XY-P5717RM
XY-P5587RM
XY-P5718RM
XY-P5588RM

XY-L3543RM
XY-P170M-1
XY-P170M3-1

[Nm]
(Nm]
[Nm]

MM

0.005

42
Il
43

70

120

BACKLASH,

15



STRAIGHT MOTOR MOUNT + MOTOR MOUNTING KIT

BALL SCREW LEAD MOTOR
STROKE EX. 1: 10mm INTERFACE
030: 300 mm 2:20 mm N: No motor interface
XY-HRS 030 - RH 1 S N F +  XY-PFEEE
TYPE MOTOR MOUNTING ASSEMBLY 5586: NEMA 23 - 1/4”
RH: Heavy S: Straight F: USA 5587: NEMA 34 - 3/8"
5588: METRIC
5717: NEMA 23 - 3/8"
5718: NEMA 34 - 1/2"
STROKE, | LIMIT +/- |BALLSCREW SB  |SPEED MAX| INERTIA | BREAKAWAY | MASS BACKLASH,
REFERENCE NUMBER MM 2MM LEAD, MM MM MM/S KG-M2 TORQUE, N-M (] HORIZ VERT MM
XY-HRS030-RH1SNF 10 778 4.12E-05 0.7 18 200 40
300 310 612 100 190
XY-HRS030-RH2SNF 20 1556 712E-05 13 17 80 20
XY-HRS040-RH1SNF 10 778 4.51E-05 0.7 20 200 40
400 410 712 200 240
XY-HRS040-RH2SNF 20 1556 7.51E-05 13 19 80 20
XY-HRS050-RH1SNF 10 778 4.90E-05 0.7 22 200 40
500 510 812 300 290
XY-HRS050-RH2SNF 20 1556 7.90E-05 13 21 80 20 0,005
XY-HRS060-RH1SNF 10 778 5.29E-05 0.7 24 200 40 '
600 610 912 400 340
XY-HRS060-RH2SNF 20 1556 8.29E-05 13 23 80 20
XY-HRS080-RH1SNF 10 671 6.07E-05 0.7 28 200 40
800 810 m2 600 440
XY-HRS080-RH2SNF 20 1341 9.07E-05 13 27 80 20
XY-HRS100-RH1SNF 10 583 172E-04 0.7 33 200 40
1000 1010 1312 800 540
XY-HRS100-RH2SNF 20 1167 2.02E-04 13 32 80 20
Motor Mounting KitS NOTE: MOTOR SUPPLIED 10 65 65 10 4-MBx12 Deep
BY CUSTOMER
REF PAGE -
NEMA 23 - 1/4” shaft XY-P5586RM 18 pommmoon 1E e & [[ o4 ; .
NEMA 23 - 3/8" shaft XY-P5717RM 18 : — é —
| |
NEMA 34 - 3/8” shaft XY-P5587RM 18 Lo J B : o
Te & o e—— ]
NEMA 34 - 1/2" shaft XY-P5718RM 19 o \ — a
W3 % 6 Deep
60mm Frame Metric Motor kit~ XY-P5588RM 19 e e
4-M5 x 12 Deep
EQ SP ON @70 BCD
50 4-M5 x 8 Deep 150 STROKE 1 €65 o
X FEAUE N e ‘ ‘ J ~ = 13‘_‘ - 4-M8 x 12 Deep
_ I 2-28H7 x 11 Dee
=8 79 W
1 o \ \ o ‘ i |%/////=//¢ [ ®e o o o
78 i Y @50 DP 3 Q;O i= E gj gci
| b AN B — = 7°08 80" ®
B 5 154 |
78 4-M4 x 6 Dee 160
87 EQ SP ON " 180
. 866, 68 BCD
Options
Limit Sensor Kit XY-L3542RM 42 For 400 stroke ST =
1 — 1 5
Module Mounting Plate XY-P170H-1 41 ¥ e ¥4 e & e
Square Nut XY-P170M3-1 43 coo i i i .
. . g 2 i )
Linear Guide Moment Capacities
) & @ & & o & 4 ® ¢
Rolling Moment [Nm] 600 a
6-®8H7 x 11 Deep -
Pitching Moment [Nm] 450
Yawing Moment [Nm] 400 Note: Maximum input torque is 3.8 N-m

1) If your payload exceeds listed value contact NSK.
2) The individual moment capacities are defined as the value at which the fatigue life
is 10,000 km when that moment acts continuously on the linear guide.

16



EXTENDED STROKE + MOTOR MOUNTING KIT

BALL SCREW LEAD MOTOR
STROKE EX. 2: 20mm INTERFACE
120: 1200 mm 4: 40 mm N: No motor interface
XY-HRS 120 - RH 2 S N F +
TYPE MOTOR MOUNTING ASSEMBLY  5743: NEMA 23, 1:1 pulley ratio
RH: Heavy S: Straight F: USA 5744: NEMA 23, 2:1 pulley reduction
5745: NEMA 34, 1:1 pulley ratio
5746: NEMA 34, 2:1 pulley reduction
5747: METRIC, 1:1 pulley ratio
5748: METRIC, 2:1 pulley reduction
NOMINAL STROKE
STROKE, LIMIT +/- |BALLSCREW L SB SPEED MAX | INERTIA BREAKAWAY
REFERENCE NUMBER MM 2MM LEAD, MM MM MM MM/S KG-M2 TORQUE, N-M
XY-HRS120-RH2SNF 20 837 1.46E-04
1200 1210 1548 1000 640
XY-HRS120-RHASNF 40 1673 1.76E-04 1.9 40 80 20
XY-HRS140-RH2SNF 20 617 1.70E-04 13 45 200 40
1400 1410 1748 1200 740
XY-HRS140-RH4ASNF 40 1235 2.00E-04 19 44 80 20
XY-HRS160-RH2SNF 20 474 1.95E-04 13 50 200 40
1600 1610 1948 1400 840 0.005
XY-HRS160-RHASNF 40 949 2.25E-04 19 49 80 20
XY-HRS180-RH2SNF 20 376 2.20E-04 13 54 200 40
1800 1810 2148 1600 940
XY-HRS180-RHASNF 40 751 2.50E-04 19 53 80 20
XY-HRS200-RH2SNF 20 305 2.44E-04 13 58 200 40
2000 2010 2348 1800 1040
XY-HRS200-RHASNF 40 610 2.74E-04 19 57 80 20
10 90
65 65 4-M8 X 12 Deep 487 - ij
T .‘3 ( ug
- Q & I —# ‘0 :q
NOTE: | r o od
1) MOTOR ADAPTER KIT SHOWN 116 103 154 160 180
INSTALLED FOR CLARITY. "~ —__|{li | i o o
2) MOTOR ADAPTER KIT SOLD Py T L
. X SEPARATELY. e L — T o o
Motor Mounting Kits i 13 / 7
=
REF PAGE i E\I 2-M3 x 6 Deep 2-M8 x 12 Deep / ] o
= 2-@8H7 x 11 Deep 2-®8H7 x 11 Deep L 7043
NEMA 23 - 1:1 pulley ratio XY-P5743RM 19 = < -
ok N
NEMA 23 - 2:1 pulley reduction  XY-P5744RM 19 T OR DEPICTED FOR CLARITY. 46
2 MOTOR SUPPLIED BY CUSTOMER
NEMA 34 - 1:1 pulley ratio XY-P5745RM 19
L
NEMA 34 - 1:1 pulley reduction  XY-P5746RM 19 150 . Stroke = (65) =
Metric, 1:1 pulley ratio XY-P5747RM 19 — 0 = 0
T
|
Metric, 2:1 pulley reduction XY-P5748RM 19
Options I
p 200 SA 200 (40)
REF PAGE | 200 8
Limit Sensor Kit XY-13542RM 42 f=- 100+ =100~ =100 = "
. 4 R 3 4 3 4 4 Ry 4=
Module Mounting Plate XY-P170H-1 41 310 {
Square Nut XY-PI70M3-1 43 °ee 152
Linear Guide Moment Capacities’ ° o o » o o o 2 o:J
Rolling Moment [Nm] 600 12-M8 x 12 Deep 6-P8H7 x 11 Deep/ [‘4
Pitching Moment [Nm] 450
Yawing Moment [Nm] 400 1) If your payload exceeds listed value contact NSK.

2) The individual moment capacities are defined as the value at which the fatigue life
is 10,000 km when that moment acts continuously on the linear guide.

17



MOTOR MOUNTING KITS

Motor Mounting Kits provide the hardware necessary to connect NEMA 23, NEMA 34 or 60mm
Frame Metric motors to the base module. These kits allow the user the flexibility to attach motors
of their choice to the base module.

See opposite page for definition of the various motor interfaces.

There are two kits for the RS module, five kits for RH/RM < 1000mm and six kits for the RH
extended module > 1200mm.

The motor mounting kit for the RS module comes installed and ready to accept the user’s motor.

Shaft Coupling

333 RS MODULE
8 @10 Ball screw X X
‘ PN XY-P5584RM, 60mm Frame Metric Motor Kit
- @ » 60mm Frame Metric Motor Plate

» 60mm Frame Metric Motor Mounting Nut Plate
» Motor Shaft Pulley, g14mm ID

©6.35 (NEMA 23) » Timing Belt
gglgg (NEMA 34 Length » Qty 4, M5 x 14 Socket Head Cap Screw
)

$12.7 (NEMA 34
@14 (Metric)

PN XY-P5585RM, NEMA 23 Motor Mounting Kit
. » NEMA 23 Motor Plate
6 » NEMA 23 Motor Mounting Nut Plate
T~ | 2eetE » Motor Shaft Pulley, ¢1/4” ID, @3/8" ID
ﬂ » Timing Belt
: » Qty 4, M4 x 14 Socket Head Cap Screw

NEMA 34 Motor Adapter Plate RH/RM £1000mm

+0.25
4X R32500

385

0.0
—0.0

RH/RM MODULES - STROKE < 1000MM
PN XY-P5586RM, NEMA 23 ¢1/4” Motor Mounting Kit
» NEMA 23 Motor Adapter Ring

77
24399

& » Jaw Type Shaft Coupling, g10mm x @1/4” x 47.6mm long
7 B » Disk Type Shaft Coupling, @10mm x @1/4” x 44.5mm long
A o S » Qty 4, M4 x 8 Socket Head Cap Screw
PN XY-P5717RM, NEMA 23 ¢3/8” Motor Mounting Kit
NEMA 23 Motor Adapter Ring RH/RM <1000mm » NEMA 23 Motor Adapter Ring
2495 00 » Jaw Type Shaft Coupling, 10mm x 23/8" x 47.6mm long

- » Disk Type Shaft Coupling, @10mm x @3/8" x 44.5mm long
» Qty 4, M4 x 8 Socket Head Cap Screw

+0.1
2382*0%

PN XY-P5587RM, NEMA 34 ¢3/8” Motor Mounting Kit

» NEMA 34 Motor Adapter Plate

» Jaw Type Shaft Coupling, g10mm x @3/8" x 47.6mm long
u » Disk Type Shaft Coupling, @10mm x @3/8" x 44.5mm long
3347 » Qty 4, M5 x 16 Socket Head Cap Screw

18



PN XY-P5718RM, NEMA 34 g1/2” Motor Mounting Kit

» NEMA 34 Motor Adapter Plate

» Jaw Type Shaft Coupling, @10mm x @1/2" x 47.6mm long
» Disk Type Shaft Coupling, @10mm x @1/2" x 44.5mm long
» Qty 4, M5 x 16 Socket Head Cap Screw

PN XY-P5588RM, 60mm Frame Metric Motor Kit

» Jaw Type Shaft Coupling, g10mm x g14mm x 47.6mm long
» Disk Type Shaft Coupling, @10mm x @14mm x 44.5mm long
» Qty 4, M5 x 16 Socket Head Cap Screw

RH MODULE STROKES = 1200MM
PN XY-P5743RM, NEMA 23, 1:1 Pulley Ratio, Motor Mounting Kit
» NEMA 23 Motor Mounting Plate

» NEMA 23 Motor Mounting Nut Plate
» Belt Cover

» Qty 4, M3 Hex Standoff

» Motor Pulley, 1/4” 1D, 31.83 PD

» Motor Pulley, 3/8" ID, 31.83 PD

» Ballscrew Pulley, 10mm 1D, 31.83 PD
» Timing Belt

» Assorted Fasteners

PN XY-P5745RM NEMA 34, 1:1 Pulley Ratio, Motor Mounting Kit
» NEMA 34 Motor Mounting Plate

» NEMA 34 Motor Mounting Nut Plate

» Belt Cover

» Qty 4, M3 Hex Standoff

» Motor Pulley, 3/8" 1D, 31.83 PD

» Motor Pulley, 1/2" 1D, 31.83 PD

» Ballscrew Pulley, 10mm 1D, 31.83 PD

» Timing Belt

» Assorted Fasteners

PN XY-P5747RM, Metric 60mm, 1:1 Pulley Ratio,
Motor Mounting Kit

» Metric Motor Mounting Plate

» Nut Plate, Metric Motor

» Belt Cover

» Qty 4, M3 Hex Standoff

» Motor Pulley, 14mm 1D, 31.83 PD

» Ballscrew Pulley, 10mm 1D, 31.83 PD

» Timing Belt

» Assorted Fasteners

SHAFT COUPLINGS FEATURES:

Jaw Type - three piece coupling consisting of two hubs and
a spider. The spider is made from polyurethane thereby
providing damping and protection against impulse loads.
The spider is pressed into the hubs providing zero backlash
operation.

Disk Type - five piece coupling consisting of two hubs, a
center member and thin metallic disks that transmit torque.
Disk type couplings provide higher torsional rigidity with
lower inertia then other coupling types.

PN XY-P5744RM, NEMA 23, 2:1 Pulley Reduction,
Motor Mounting Kit

» NEMA 23 Motor Mounting Plate

» NEMA 23 Motor Mounting Nut Plate
» Belt Cover

» Qty 4, M3 Hex Standoff

»Motor Pulley, 1/4” 1D, 31.83 PD

» Motor Pulley, 3/8" ID, 31.83 PD

» Ballscrew Pulley, 10mm 1D, 63.66 PD
» Timing Belt

» Assorted Fasteners

PN XY-P5746RM, NEMA 34, 2:1 Pulley Reduction,
Motor Mounting Kit

» NEMA 34 Motor Mounting Plate

» NEMA 34 Motor Mounting Nut Plate
» Belt Cover

» Qty 4, M3 Hex Standoff

» Motor Pulley, 3/8” 1D, 31.83 PD

» Motor Pulley, 1/2" 1D, 31.83 PD

» Ballscrew Pulley, 10mm D, 63.66 PD
» Timing Belt

» Assorted Fasteners

PN XY-P5748RM, Metric 60mm, 2:1 Pulley Reduction,
Motor Mounting Kit

» Metric Motor Mounting Plate

» Metric Motor Mounting Nut Plate

» Belt Cover

» Qty 4, M3 Hex Standoff

» Motor Pulley, 14mm ID, 31.83 PD

» Ballscrew Pulley, 10mm D, 63.66 PD

» Timing Belt

» Assorted Fasteners

19



MOTOR INTERFACE DIMENSIONS

\[ PE Motor

‘ N
® ® =
o !
@ - "C'DIA "A"DIA
}
. . |
\@ ®) I
"F' DIA., 4 HOLES B | BN
EQUALLY SPACED
ON AN "E" DIA. B.C.D. —— B —=

MOTOR INTERFACE
ITEM DIMENSION METRIC 60MM NEMA 23 NEMA 34

A Motor Shaft Diameter 14 6.350r 9.53 9.53 01 12.70
B Motor Shaft Length 30 20.57 3175
C Pilot Diameter 50 38.10 73.03
D Pilot Length 3 2.36 2.36
E Mounting Bolt Circle Diameter 70 66.68 98.43
F Bolt Hole Size 5.5 4.95 5.54

20



21



2 AXIS COMBINATIONS

2-Axis Selection

RX-HH Type
Page 29

RG-HM Type -

Page 24

COMBINING MODULE
COMBINATION TYPE X AXIS Y AXIS BRACKET MOUNTING PLATE LIMIT SENSOR KIT SQUARE NUT

RG-MS

RG-HM

RD-MS

RD-HM

RX-HM

RX-HH

RC-MS

22

Type Aor B

Type A or C
Type B or D
Type A
Type B

Type A or B

Type Aor B

Type Aor B

Type A
Type B

XY-HRSO"5-RM™SNF &
XY-P 55 RM

XY-HRSO™*0-RH*SNF &
Sy-p R

XY-HRSO'E"_ST'RM""SNF g

XY-HRS0*“0-RH*SNF &
XY-PT*RM

XY-HRSO*5-RM*SNF &
XY-P¥*% RM

XY-HRSO0-RSTR"F
XY-HRSO5-RM*SNF &
Y-t
XY-HRSO"0-RSTL'F
XY-HRSO0-RSTR"F

XY-HRSO*5-RM“SNF &
VPR

XY-HRSO"5-RM*SNF &
XY-P¥**RM

XY-HRSO**0-RH*SNF &
XY-P****RM

XY-HRS0*0-RS1L*F
XY-HRSO*0-RSTR*F

XY-P175GMS-1

XY-P175GHM-1
XY-P175GHM-2

XY-P175DMS-1

XY-P175DHM-1

XY-P175XHM-1

XY-P175XHH-1

XY-P175CMS-1 &
XY-P175XHM-1

XY-P170M-1

XY-P170H-1

XY-P170M-1

XY-P170H-1

XY-P170H-1

XY-P170H-1

NA

X AXis: XY-13543RM
Y AXis: XY-L3544RM
X AXis: XY-L3542RM
Y Axis: XY-13543RM
X AXis: XY-13543RM
Y Axis: XY-L3544RM
X AXis: XY-L3542RM
Y Axis: XY-L3543RM
X AXis: XY-L3542RM
Y Axis: XY-L3543RM

XY-L3542RM

X Axis: XY-L3543RM
Y Axis: XY-L3544RM

XY-P170M3-1



COMBINATION TYPE: RG-MS

Type A Type B
Y Axis Stroke + 308 ————— =
16—~ 80 gL 107 -
o
200
262
o
X Axis
. Stroke
Motion +
Range ) 336 X Axis
X Axis Stroke
5 Stroke 3
336
Motion
Range
X Axis
Stroke
136
<
LIl L | 74
1
Y Axis
1 16*!—80—— Stroke 107 =
Y Axis Stroke + 303 ———=
1 f
& 11
= l
| | | 66 278
f [ 66 278
. ! 102 & . f
51 | i [] [I K 102
s f SN !
Combination Type and Reference Numbers
/x s COMBINATION TYPE TYPEA OR B REF PAGE
X Axis XY-HRS0*5-RM*SNF 15
X Axis Motor Mounting Kit XY-P****RM 18§19
Y Axis XY-HRSO0*0-RSTR*F 13
. XY Combining Bracket XY-P175GMS-1 39
Combining
Bracket Options:
X Limit Sensor Kit, X Axis XY-L3543RM 42
Y Axis Motor-
Internal Limit Sensor Kit, Y Axis XY-L3544RM 42
(Customer N X
Supplied) X Axis Module Mounting Plate XY-P170M-1 41
Square Nut XY-P170M3-1 43
Y Axis Transportable Mass Table [kq]
ACCELERATION Y AXIS STROKE, MM
w00 | a0 | 30 | a0 | 500 |
X Axis Mofor 49 20 15 1 8 6
[Customer 9.8 18 12 9 6.5 5
Supplied)

Note: Assembly of system required

23



COMBINAT

Type A

ION TYPE: RG-HM

Y Axis Stroke + 402
Y Axis 137
180 85 Stroke
215
X Axis
. Stroke
Motion +
Range 312
X Axis
S ) Stroke
R
i i i
L{ I I T
97
[ — f
[¢] 116
— 1 223

/X Axis

Combining
Bracket

Y Axis
O / i

51

T

N—Y Axis Motor

|

|| (Customer
58 Supplied)
\X Axis Motor
(Customer
Supplied)

Note: Assembly of system required

24

Type B
Y Axis Stroke + 402
— 137 s ol g5 | 180 —=|
215
X AXis
Stroke
f 3]]”21 Motion
Range

. X Axis
X AXis stroke
Stroke
>1m
+354

...........



Type C

Type D
] -] ]
o
o
; X Axis X AXi
— L Stroke sfroﬁse
>1m >1m
+ 354
X Axis
Motion ; X Axis Stroke Motion
X Axis Stroke X Axis
RemeR Stroke <Im +<31]r721 Stroke Range
65 45
~— 180 —= 85 =— Y AXxis Stroke —=r=— 137 —= * [=— 137 —=r—=—Y Axis Stroke —= 85 |=—— 180 —=
Y Axis Stroke + 402 ————— Y Axis Stroke + 402
T
o ] * i T
9 16 116 o]
0] ] ‘ L = ——"
. 223 223 T
107 107

Combination Type and Reference Numbers

COMBINATION TYPE TYPEAOR C TYPEB OR D m

X Axis XY-HRSO**0-RH*SNF
X Axis Motor Mounting Kit XY-P****RM
Y Axis XY-HRS0*5-RM*“SNF
Y Axis Motor Mounting Kit XY-P****RM
XY Combining Bracket XY-P175GHM-1 XY-P175GHM-2
Options:
Limit Sensor Kit, X Axis XY-L3542RM
Limit Sensor Kit, Y Axis XY-L3543RM
X Axis Module Mounting Plate XY-P170H-1
Square Nut XY-P170M3-1

Transportable Mass Table [kq]

ACCELERATION Y AXIS STROKE, MM

49
9.8 40 40 33 28 19

16 &17
18&19
15
18&19
39

42
42
4
43

/s
40 40 40 40 33 24

13
25



COMBINATION TYPE: RD-MS

Type A Type B
X Axis Stroke + 336 —————————————= X Axis Stroke + 336 —————=
183 ke 153 —= 183 sfr/c?:i 153 —=
|l3 1(;8
H - ) )
N : : SYfréﬁlé Q : Y Axis SYtrgI((Z
o _JS ° Y Axis 221 o t Al o Stroke +
Eq J ] Stroke ot = ' 261
\; - ? o o J 1
| e ? sren
Y Axis Motor- Y Axis
Internal
Customer
upplied) Combining )
X Axis Motor Brocket X AXls
(Customer
MR 1 VAe I
| 1 T 170 S 1 L T 170
—=1 5] . .
° " Combination Type and Reference Numbers
L COMBINATION TYPE TYPEA TYPE B REF PAGE
58
ﬁ X Axis XY-HRS0%5-RM*SNF 15
X Axis Motor Mounting Kit XY-P¥***RM 18 &19
] 5 - XY-HRS0“0-
Y Axis XY-HRSO"0-RS1L*F RSIRYF 12613
XY Combining Bracket XY-P175DMS-1 39
Options:
) Limit Sensor Kit, X Axis XY-L3543RM 42
Note: Assembly of system required Limit Sensor Kit, Y Axis XY-L3544RM 2
X Axis Module Mounting Plate XY-P170M-1 41
Square Nut XY-P170M3-1 43
Transportable Mass Table [kq]
ACCELERATION Y AXIS STROKE, MM
M/ | 100 | 200 | 300 | 400 | 500 |
49 20 20 20 20 20
9.8 20 20 20 20 20

26



COMBINATION TYPE: RD-HM

Type A
Y Axis Stroke + 336 —————=
=— 137 —=1=—Y Axis Stroke —=t=—— 199 —=
140
Motion
Range
X Axis X Axis
Stroke Stroke
+
312 | | ||
. [— . E—
L - -
o
[ = —
1

172 L_"—r_J

‘X AXi

46

P
Y Axis Motor

(Customer
Supplied)

Y Axis

Combining
Bracket

X Axis Motor
(Customer

Supplied)

Note: Assembly of system required

Type B

Y Axis Stroke + 336 —————
199 ofids 137 =
140
Motion X Axis
Range Stroke
\ >1m
. +354
X Axis
Stroke X Axis
S’rr]oke
- S— - <Im
— =T i +312
[¢
=T ]
1
e— —

b e7 =

Combination Type and Reference Numbers

COMBINATION TYPE TYPEAOR B REF PAGE

X AXxis XY-HRSO**0-RH*SNF 16 & 17
X Axis Motor Mounting Kit XY-P**RM 18§19
Y AXis XY-HRSO*5-RM*SNF 15
Y Axis Motor Mounting Kit XY-P*¥**RM 18&19
XY Combining Bracket XY-P175DHM-1 39
Options:
Limit Sensor Kit, X Axis XY-L3542RM 42
Limit Sensor Kit, Y Axis XY-L3543RM 42
X Axis Module Mounting Plate XY-P170H-1 41
Square Nut XY-P170M3-1 43

Transportable Mass Table [kg]

ACCELERATION Y AXIS STROKE, MM
e o0 |
40 40 40

40 40
9.8 40 40 40 40 40 40

4.9 40

27



COMBINATION TYPE: RX-HM

Type A Type B
Y Axis Stroke x 2 + 336 Y Axis Stroke x 2 + 336
Y Axis Stroke + 289 ——————== 47 =— Y Axis Stroke —=— * * = Y Axis Stroke —== 47 e————— Y Axis Stroke + 289
102 102
Y Axis X Axis X AXis
{ : Stroke Stroke
Y Axis Motor Motion . . .
éCusiomer ReTies X AXis > 1m i ;gl X Axis Motion
upplied) Stroke +354 Stroke Range
X Axis X Axis
Stroke Stroke
<im <im
+312 +312 \E‘
f 1
1 T

I = o
° = 116 ® o
......... i
* ] 107 46 Q
V46 E J * ----------
L Y L — &7 L——
/x pois Combination Type and Reference Numbers
COMBINATION TYPE TYPEAORB REF PAGE
X Axis XY-HRSO*“0-RH*SNF 16 & 17
X Axis Motor Mounting Kit XY-P***RM 18§19
58 = Y Axis XY-HRS0*5-RM*SNF 15
| t Y Axis Motor Mounting Kit XY-P****RM 18619
51 XY Combining Bracket XY-P175XHM-1 40
P * Options:
) Limit Sensor Kit, X Axis XY-L3542RM 2
o Limit Sensor Kit, Y Axis XY-L3543RM 42
||| Sombining X Axis Module Mounting Plate XY-P170H-1 M1
W\ Square Nut XY-P170M3-1 43
\X Axis Motor
[Custorner Transportable Mass Table [kg]
Supplied)
ACCELERATION Y AXIS STROKE, MM
Mm/s2
Note: Assembly of system required /
33 24 19 15 12 7 3
49 21 16 12 9 5 2

28



COMBINATION TYPE: RX-HH

Type A Type B

Y Axis Stroke x 2 + 312
Y Axis Stroke x 2 + 312
¥ A Stroke + 262 50 = Axds Stroke = k= Y Axis Stroke —=150 ¥ Axis Stroke + 262
128 128
Y Axis X Axis X Axis
Y Axis Motor ‘ a Stroke Sfr]oke
(Customer Motion X Axis > 1m >1m Motion
Supplied) Range Stroke +3%4 *354 A Range
Stroke
X Axis X Axis
F o o Stroke Stroke ) S
| <lm <1m T |
| I +312 +312 | Il |
1 I [ IF

~— 180 —

ST i 110 110 ) '
Lo a6 46 1
T - * B S

Combination Type and Reference Numbers

T X Axis
/ COMBINATION TYPE TYPEAORB REF PAGE
X Axis XY-HRSO™*0-RH*SNF 16 & 17
X Axis Motor Mounting Kit XY-PFEE 18§19
Y AXis XY-HRSO*0-RH*SNF 16 & 17
Y Axis Motor Mounting Kit XY-P*¥**RM 18 & 19
ﬂ &= | XY Combining Bracket XY-P175XHH-1 40
46 Options:
* Limit Sensor Kit, X Axis XY-L3542RM 42
: Limit Sensor Kit, Y Axis XY-L3542RM 42
X Axis Module Mounting Plate XY-P170H-1 41
— Combining Square Nut XY-P170M3-1 43
Bracket
\ , Transportable Mass Table [kg]
XCAXIfS Motor
ustomer
guppﬁed] ACCELERATION Y AXIS STROKE, MM
ws: 00|00 T so0 |00 | 500 | 0o
Note: Assembly of system required 33 40 40 40 40 29 29
4.9 40 40 40 39 28 19

29



COMBINATION TYPE: RC-MS

Type A Type B
15 15
| 1 I
[;r i © o |[= %— E1
T
130 l’ ‘l o 189 } 1 [ ] 1:§50 ]ﬁ
- b q
48 /
! —7116*—*169—4 LQ&
4X P9 169 —== 116 = X B9
X Axis ‘
13 1
Combinin:
omater rackei 133
Supplied) Z Axis
r " .. Stroke 7 Axis
Motion 7 Axis
Range stroke 267 Stoke % " A
+ XIS Motion
o o= 267 Stroke Range m
ol ® o T = °
o ° ° o
i . & 1 l 4 o o
r
7 W
X Axis Stroke + 133 —l» 132 AL 161 —=f=—— X Axis Stroke —=] (== X Axis Stroke —=t=— 161 # 132 #7 X Axis Stroke + 133 ———=
[ XAXisStroke x2+ 426 ———— | ———————————— X Axis Stroke x 2 + 426
7 Axis

Combination Type and Reference Numbers

Z Axis Motor-
/ P COMBINATION TYPE TYPE A TYPE B REF PAGE

Syeoithl X Axis XY-HRSO*5-RM*SNF
X Axis Motor Mounting Kit XY-P****RM 18§19
N 7 Axis XY-HRS0*0-RS1L*F XY;;'};Q;'O' 280
o lo XY Combining Bracket XY-P175XHM-1, XY-P175CMS-1 40
M Options:
° o Limit Sensor Kit, X Axis XY-L3543RM 42
* Limit Sensor Kit, Z Axis XY-L3544RM 42
5 58 X Axis Module Mounting Plate NA 4
B] Square Nut XY-P170M3-1 43
- [.
1=}
N [ Transportable Mass Table [kq]

Note: Assembly of system required 1 AXIS ACCELERATION X AXIS STROKE, MM

39 8 8
100mm
4.9 8 8 54 2.4
39 8 8 7 47
200mm
49 8 8 47 17

30



3 AXIS COMBINATIONS

RP-HMS Type
Page 32

RP-MSS Type
Page 34

3-Axis Selection

XY YL MODULE
COMBINING COMBINING | MOUNTING SQUARE
COMBINATION TYPE X AXIS Y AXIS L AXIS BRACKET BRACKET PLATE LIMIT SENSOR KIT NUT

Type A . XY-HRS0*0-RSIL*F X AXis: XY-L13542RM
RJ-HMS ,.RAZNF & | XFHRS0 - ..RI;NF _ XY-PI7SXHM-T - XY-P175CMS-T XY-P170H-1 Y Axis: XY-L3543RM
Type B XY-HRSO0-RSTR™F 7 AXis: XY-L3544RM
Type A or C LbCnt oL LpCnte o XY-HRSO*0-RSILF  XY-P175GHM-1 X AXis: XY-L3542RM

RP-HMS X Hiiop.,o R AiNF & | X HiSYOP.S R%JNF XY-PT75DMS-1 XY-P170H-1 Y Axis: XY-L3543RM  XY-P170M3-1
Type B or D B axy- XY-HRSO"0-RSTR™F  XY-P175GHM-2 7 AXis: XY-L3544RM

X AXis: XY-L3543RM
XY-HRSO"0-RSTR*F  XY-HRSO*0-RSTL'F  XY-P175GMS-1 XY-P175DSS-1 XY-P170M-1 Y Axis: XY-L3544RM
7 Axis: XY-L3544RM

XY*HRSO""_S*R

RP-MSS Type Aor B YY-P

M*SNF &
“RM

31



COMBINATION TYPE: RP-HMS

Type A Type B

Y Axis Stroke + 402
=— 180 —= 69 [=— Y Axis Stroke —=r=— 153 —=

Y AXxis Stroke + 402 ———————=

F=— 153 —==—Y Axis Stroke —= 49 r=— 180 —=
300
X Axis 300
Stroke X Axis
>1m
+354 Siroke
+ 354
Motion g(TAEIS
) Range roke
<Im Motion érgfé
ot 312 Range ° <im
° X Axis +312
Stroke o o
; ; S>< A>k<is
troke
| T 1 %
___________ 7 @

Motion 153 T
/Runge l 153 Motion
7 Asi Range
7 Axis XIS l \
I Stroke Sirgke 7 AXis i
325 Stroke 7 Axis
by Stroke i o |
] 325 -
5 O | |
; 172 T F o H
65 172 i N s
* s 46

/X Axis

XY Combining
Bracket
Y Axis Motor
(Customer
- 58— Supplied)
O

YZ Combining
Bracket

Z Axis Motor-
Infernal
(Customer
Supplied)
7 Axis

X Axis Motor

(Customer

Supplied)

Note: Assembly of system required

32



Type C

X Axis
Stroke
<1lm
+312

X Axis
Stroke
>1m

+354

X Axis
Stroke

Motion
Range

=— 180 —=] 69 |=—Y Axis Stroke ——}=— 153 —~|

Y Axis Stroke + 402 ———=

Motion
/ Range 1 TS

=
. 7 Axis
| o . ZAXis  Stroke
| . | Stroke +
o] C)

Type D

Motion seyeeeges
Range .
o
c] ry
X Axis
X Axis  Stroke
Stroke ; i |
<Im
+312 I_ﬁEJ_A_D_]
X Axis =
Stroke
>1m
+354
300
[=— 153 —=r=— Y Axis Stroke—= 69 r=— 180 —=
Y Axis Stroke + 402
m Motion
153 Ronge\
7 Axis l o
Stroke 7 Axis
+ T
305 Stroke I . ]
° O
T f °
172 ] T -~
l 65

Combination Type and Reference Numbers

COMBINATION TYPE TYPEA TYPEB REF PAGE

X Axis
X Axis Motor Mounting Kit
Y Axis
Y Axis Motor Mounting Kit

7 Axis

XY Combining Bracket
YZ Combining Bracket
Options:
Limit Sensor Kit, X Axis
Limit Sensor Kit, Y Axis
Limit Sensor Kit, Z Axis

X Axis Module Mounting Plate

Square Nut

XY-HRS**0-RH*SNF 16 & 17
XY-PE45RM 18619
XY-HRS0*5-RM*SNF 15
XY-P¥**RM 18519
XY-HRSO*0-RS1L*F XY&';?;SFO' 2613
XY-P175GHM-1 XY-P175GHM-2 39
XY-P175DMS-1 39
XY-L3542RM )
XY-L3543RM )
XY-L3544RM )
XY-P170H-1 41
XY-P170M3-1 53

Transportable Mass Table [kq]

ZAXIS | ACCELERATION
STROKE M/S2

100 or 49
200 9.8

Y AXIS STROKE, MM

20 20 20
20 20 20

20 20 16
20 12.6 6.6

33



COMBINATION TYPE: RP-MSS

Type A
Y Axis Stroke + 303
~116— 80 Y Axis Stroke —= 107 =—
282
X Axis
Stroke
+
Motion 335
Range
X Axis
Stroke
O g 54
WSF
i Motion . 7 AXis
L | ol Range Z Axis  Stroke
o = Stroke +
1 — 295
o '#H r
i * 142
51 35
sl
a /x Axis

XY Combining
Bracket

Y Axis Motor-
Internal
(Customer
Supplied)

X

Z Axis Motor-
Internal
(Customer
Supplied)

YZ Combining
Bracket

Axis Motor
(Customer
Supplied)

Note: Assembly of system required

34

Type B
[e]
344
X Axis
Stroke
+
335
Motion X Axis
Range Stroke

—~ 116+ 80 LYAxiSSTrOkeJ 107

Y Axis Stroke + 303 —————

Combination Type and Reference Numbers

COMBINATION TYPE

X AXxis

X Axis Motor Mounting Kit

Y Axis

1 Axis

XY Combining Bracket

YZ Combining Bracket

Options:
Limit Sensor Kit, X Axis
Limit Sensor Kit, Y Axis
Limit Sensor Kit, Z Axis
X Axis Module Mounting Plate
Square Nut

Transportable Mass Table [kq]

L AXIS
STROKE

m/s2

153
l 7 Axis
ﬂ_J Motion 1 Axis  Stroke
I Range Stroke +
|
- 295
o | | ?
F * 142
35 l

XY-HRSO*5-RM*SNF 15
XY-P****RM 18619
XY-HRSO*0-RS1R*F 13
XY-HRSO*0-RS1L*F 12
XY-P175GMS-1 39
XY-P175D55-1 38
XY-L3543RM 42
XY-13544RM 42
XY-13544RM 42
XY-P170M-1 41
XY-P170M3-1 43

ACCELERATION X AXIS STROKE, MM
00 200 | 300 ]
4.8

49 8 8 1.8
100mm

9.8 8 5.8 2.8 -

49 8 8 41 11
200mm

9.8 8 51 2.1



COMBINATION TYPE: RJ-HMS

Type A Type B
Y Axis Stroke x 2 + 426
Y Axis Stroke x 2 + 426 ) )
Y Axis Stroke + 289 ———————sf=— 137 —=f=— Y Axis Stroke —=| [ Y A Sfroke —=p=- 137 —e=———— Y i Siroke + 289
W*O 9‘0
X Axis X Axis X X
Motion S>§ A>k<is Stroke S;r]orl;e sﬁéﬁ‘; 'éAgr:gg
Range oke = 312
X Axis X Axis
Stroke Stroke
>Im >Im
I = 4354 +354 = L]
=180 —= =180 —=
TLB‘ 1%3
q . 7 AXi i . .
M| dns s fe 45% | el
o o] 357 357 F=o °
O] ® L O
______ . . 204 204 =
e | Y]
L4 (o] 46 :
f ——f 87 | * —= 87 F
Combination Type and Reference Numbers
COMBINATION TYPE TYPEA TYPEB REF PAGE
X Axis X AXis XY-HRS**0-RH*SNF 16 & 17
'_/ X Axis Motor Mounting Kit XY-P***"RM 18 & 19
Y Axis Motor Y Axis XY-HRSO*5-RM*SNF 15
(Customer Supplied) g
Y Axis Motor Mounting Kit XY-P***“RM 18&19
Y Axis , - XY-HRS0*0-
7 AXis XY-HRSO"0-RS1L*F RSIR'F 122813
4L Cormbining XY Combining Bracket XY-P175XHM-1 40
T r‘ ' Y Combining Bracket XY-P175CMS-1 40
T LA Options:
o1 — Limit Sensor Kit, X Axis XY-13542RM vy}
e —— Limit Sensor Kit, Y Axis XY-L3543RM 42
. Limit Sensor Kit, Z Axis XY-L3544RM 42
/ X Axis Module Mounting Plate XY-P170H-1 41
HH 7 Axis Motor- Internal Square Nut XY-P170M3-1 43
(Customer Supplied)
. Transportable Mass Table [kg]
N XY Combining

Bracket
\ ) 1 AXIS ACCELERATION X AXIS STROKE, MM
X Axis Motor >
5.4

3.3 8 8 8
100mm
Note: Assembly of system required 49 8 8 5.4 2.4
33 8 8 77 4.7
200mm
4.9 8 8 4.7 17

35



FOR COMBINATION TYPES: RG-HM AND RP-HMS

| //10.5| (X Axis Stroke 400 or Less)
' //11.0] (X Axis Stroke 500 or More)

Y Axis Stroke + 475
180 85 r=— Y Axis Stroke —==— 144 —= 66 ~=— +
1 I
67.5
215.5
|
qal | X AXIs
Stroke
Q j. - > '| m
X Axis + 354
Motion Strgke
o | Range | 200
> > q X AXis
. Stroke
° o . i X AXxis <1m
> A L ||| Stroke +312
1
|
H d j. T -
Motor Supplied
By Customer — [N
I:|H\Mofor Supplied
By Customer
Support Bracket Slide Unit

XY—P]77BGHM—]—\= /e Unit L
1 _© (o]} o1 : ?
o} . 16
| j - (e} (- | ] ‘

EN
: :U n: 107
i L 7
QOT :Mounfing Plate Mounting Plate ;
XY-P170H-1 XY-P170S-2

36



Slide unit

PART NUMBER STRO!

XY-P1775030-2
XY-P1775040-2
XY-P1775050-2
XY-P1775060-2
XY-P1775080-2
XY-P1775100-2

Support bracket

Module mounting plate

For stroke 300 to 1,000

] —
& = )
100 Stroke 100 14, 47,5
g
. o o
U = 2
o
66
50 100 SA 100 50
(2]
g
+ + 3 4+ g
RS + + + +
12-M5x10 depth_ 100 SB @

Example of reference number:

XY-P1775030-2

Stroke Ex.
030: 300 mm

KE, MM SA, MM SB, MM SE, MM MASS, KG
300 500 200 200 150 4.8

400
500
600
800
1000

600
700
800
1000
1200

300
400
500
700
900

250
300
350
450
550

6-06.6 drilled through hole to g11 counter bore, 6.5 depth,

4-06.6 slotted hole, drilled through 28 , 28
_ <|
B 1 6
‘ i
o~ . [te)
© © I
~— o o~
5 8 |
S
K i
i o | &
T T [fe}
&
10 53 36 | 36
63 72
s>
116
[Te]
©
S & — © "
| =
- =i a ||¢#
1 — | R—
L SE SE # 100 - 20

* We recommend three plates per slide. Reference number designates a quantity of 1 plate.

200
250
300
400
500

54
6.0
6.6
78
9.0

Reference number:
XY-P177BGHM-1

Reference number:

XY-P170S-2

37



COMBINING BRACKETS

MODULE SIZE

SERIES ATTACHED TO THE DESIGN
P175: R Series FIXED SIDE NUMBER
Xy - P175 G H Mmoo- 1
COMBINATION MODULE SIZE
TYPE ATTACHED TO THE
MOVING SIDE

» Brackets for combining modules into
2-axis and 3-axis mechanisms.

» Combining brackets contain dowel
pins to ensure a high reproducibility
of assembly accuracy.

XY-P175DSS-1

100
=—"o230 40
~— 25 50
— 26 48 12
* | *1_’* 1) Use a plastic hammer or similar tool to install
8 g TN 1 . . '
;0 ‘H.,/ P} the straight pin and chamfered pin into the
“’ éj\ ~ bracket. For the chamfered pin, please note
4 orientation and install as shown.
40
50 '
@) @ =
T
130 & ‘ -8
100 ' Accessories
‘(@\} Plate 1 pc.
= :I Straight pin 1 pc.
Chamfered pin 1 pc.
Hexagon socket head cap screw M5x18 ---- 8 pcs.
(@) @) \ Hexagon socket head cap screw M6x10 ---- 8 pcs.
40 4-©6.60 THRU, COUNTERBORE® 11, 8.5 DEEP
— 10 80
2-¢)8 HOLE FOR PIN (1)
4-¢5.50 THRU, COUNTERBORE 9.5, 8 DEEP

38



XY-P175DMS-1

1) Use a plastic hammer or similar tool to drive
in the straight pin and chamfered pin into the
bracket. For the chamfered pin, please note
orientation and install as shown.

4-06.6 drill through 011
counter bore, 8 depth

4-06.6 drill through 011
counter bore, 6.5 deep on back

126
27 40 5{
54
55 48
I
o] P
B AP % 4 g
¥,
RS °
o g
9
@8 FarY D gl
==l A\ o
g
8
’é# & A
55 /
8, 110
+1 Hole for 2-08 pin 4-05.5 drill through 9.5 counter bore, 5.4 deep
T B
- il [
& [l gl
LJ Attached
About 0.6kg
Accessories:
Straight pin -1 pc.
Chamfered pin -1

pc.
Hexagon socket head cap screw M5x18
Hexagon socket head cap screw M6 x16

XY-P175GMS-1

Attached
straight pin  chamfered pin

XY-P175DHM-1

4-06.6 drill through 11 counter bore,
9 depth on the back

4-09 drill through 014
counter bore, 8.6 depth

250
66 177
T o
$ Y
s
kS
Il
® U e
hul ht
Q o
o
4-06.6 drill through 1225 -
100 75 85
50 o940 .
8]
Py P
. .
[ N [ \ N
I I
o e Q
! o« .
8

82

4-05.5
dril through

About 1.6kg

Accessories
Hexagon socket head cap screw M6 x18
Hexagon socket head cap screw M5 x16

216
50 - 116 - FA-
«, )
N\ &
8
g8 o o g o B
I
$ &) I
¥
© &
A\ |
100
8 200
| |
g
w i )
About 1.6kg
Accessories
Hexagon socket head cap screw M6x20
Hexagon socket head cap screw M8x25
330
116 202
[ T F
@ &
&
8
< 4
Y o— P 118
4-09 drilled
through hole]
< ©
= 147
200 10 64
100 L5_T
10, B
§ I~ 2
17 1 n
o ° ™ ‘ P T o
= it & o E
Il T H i I
i) ] S 1) =t
1= 4-06.6 drilled through hole,
011 counterbore on the back
About 3.6kg
Accessories
Hexagon socket head cap screw M8x20 ------ 4 pes.

Hexagon socket head cap screw M6x20 ------ 4 pcs.

Mirror image bracket: XY-P175GHM-2

39



COMBINING BRACKETS (CONTINUED)

XY-P175XHM-1 XY-P175XHH-1

85 130 4-9 drill
through 40 130

EN NN e L

i e © @ 110 11 o (_P] A $ 4-09 drill

i 4-09 drilled S through
55 014 counter
& through hole r'—' 180 130 25 _bore on the back
72 65
43 © L O . €
11

4-06.6 drilled 8 ©|

8 through hole 10 =
: a ) D |

=
= o © O
o - ‘_Iﬁe
of S|
}» i ! L’+"I = "QI o I ﬁd\ \ , ke
T w T T ﬁ ] m !
147 2| [IJ :T
o
About 4.0kg
About 1.4kg
Accessories Accessory

Hexagon socket head cap screw M8 x20
Hexagon socket head cap screw M6 x20

Hexagon socket head cap screw M8x 25 ------ 8 pcs.

XY-P175CMS-1

1) Use a plastic hammer or similar tool to drive
in the straight pin and chamfered pin into the
bracket. For the chamfered pin, please note
orientation and install as shown.

4-06.6 drill through
011 counter bore
(For bracket fixing,

M6 x12 long is used) *1 Hole for 2-08 pin
180
28 80
40 20
40
50
ol
A
||| g T
AN m
A\
ol o ®| o ®| $ -
R
e N
S N

25 130 4-M5 drilled through hole
4-05.5 drill through 09.5 counter bore on the back

Hexagon socket head
cap screw M5x18

Plate on the

. pin driving side 08 08
Ei 'F\F
a [l o L < 8¢
St i
E @9 §@ ] g T Atached Attached
%ﬁu—wﬁ' - Lf i straight pin chamtered pin
About 0.9kg
Accessories:
Straight pin -

Chamfered pin --
Hexagon socket head cap screw M5 x1
Hexagon socket head cap screw M5 1
Hexagon socket head cap screw M6 x1
Hexagon socket head cap screw M6 x1:

40



MODULE MOUNTING PLATES

SERIES DESIGN
P170: R Series NUMBER
Xy - P170 H - 1
MODULE TYPE
H: RH Module
M: RM Module

S: RS Module

» These plates are used for mounting
the module in a “top down manner”.

» Two mounting plates are required
per fixed module.

» Part number designates a quantity
of one mounting plate.

XY-P170M-1
4-09 drill through, 014 counterbore, 8.6 depth
4-06.6 drill through, 011 9 depth on the back
8| 4-C3
T ) ]
R
ol o o
o] I S
@
1 o
gl | 200 1le |20
216
About 1.8kg
Accessory

Hexagon socket head bolt M6 <20 ------ 4 pcs.

XY-P170S-2

2-36.60 Thru 4- $5.50 THRU

@11 Counterbore 9.5 Counterbore
6.5 Deep 8 Deep Farside
8 100
F—
_ i
/
\

] r——14
,;\, -
e Lo+

/

95

© LT

116

40

a0 oy [~ ——
WL D (&) |
27].5

About 0.4kg

Accessory
Hexagon socket head bolt M5 x 20 — 4 pcs

XY-P170H-1

4-09 drill through, 014 bore, 8.6 depth
4-09 drill through, 014 counterbore, 12 depth on the back

4-C3

216
200

200
216

About 2.4kg

Accessory
Hexagon socket head bolt M8 <20 ------ 4 pes.

41



LIMIT SENSOR KITS

XY - L 3542 RM

SENSOR KIT

3542: RH Sensor Kit
3543: RM Sensor Kit
3544: RS Sensor Kit

» Provides necessary hardware to set module stroke
limits and home position externally.

» Specially designed kit for each module type.

» Sensors are mounted using module T-slots for
maximum flexibility in positioning sensors.

» Kits come with “High-Flex” sensor cable for
high reliability.

» Sensor flag mounts below slider mounting surface.

Module Cross Section

—

I

N

RH Module 90mm 14mm
RM Module 85mm 14mm
RS Module 70mm 14mm

42

RH MODULE SENSOR KIT- PN XY-L3542RM
» RH Module Limit Sensor FIag ..o,
» Limit Sensor (OmMron EE-SX672A) ....ovvvvvoeeeieee.

» Limit Sensor Cable with Connector, 2m long
(OmMron EE-10T0-R2M) .o

» - Limit Sensor T-Slot NUt PI3te.....ovvveeveeoeeeee,
» M3 x 8 Socket Head Cap SCTeW .......cccooovvvvevrieran,
» M3 X 6 FIat Head SCreW ...oveeeeeeeeeeeeeeeeeeeeeee,

RM MODULE SENSOR KIT- PN XY-L3543RM
> RM Module Limit Sensor FI3g.........ccoovvvrivriicirninae.
» Limit Sensor (OmMron EE-SX672A) .....o.vvvveeeeieeen.

» Limit Sensor Cable with Connector, 2m long
(OmMron EE-10T0-R2M) .o

» - Limit Sensor T-Slot NUt PI3te.....ooovvveveeeoeeeee,
» M3 x 8 Socket Head Cap SCTeW ........cccovvvvrvriernn,
» M3 X 6 FIat HEad SCreW ...oveeeeeeeeeeeeeeeeeeeeeee,

RS MODULE SENSOR KIT- PN XY-L3544RM
» RS Module Limit Sensor FIag......cccoovvvvriiinirinae.
» Limit Sensor (OmMron EE-SX672A) ....oovvvveeeieeeen.

» Limit Sensor Cable with Connector, 2m long
(OmMron EE-10T0-R2M) .o

» Limit Sensor T-Slot NUt PI3te.....ovvveeveeeeeeeee,
» M3 x 8 Socket Head Cap SCTeW .......cccooovvvvevrieran,
» M3 X 6 FIat HEad SCreW ...o.veeeeeeeeeeeeeeeeeeeeeee,



SQUARE NUT FOR MODULE T-SLOTS

B M i - XY-P170M3-1
6.2
» This nut is used to secure accessories
to the side of the module.
an) o~
&;( )

» Nuts are supplied in sets of 4.

» T-slot locations are shown below

for the various module types. M3 tap through

t=2.3

T-SLOT LOCATIONS ON MODULES

RS Module RM Module RH Module

40

5.2 5.2

43



NSK AMERICAS

United States
NSK Corporation
Ann Arbor MI
1.888.446.5675

Canada

NSK Canada Inc.
Mississauga ON
1.888.603.7667

Mexico

NSK Rodamientos Mexicana,
S.A.de C.V.

Silao Guanajuato MX
52.472.500.9500

Brazil

NSK Brasil Ltda.
Sao Paulo SP
55.11.3269.4700

Argentina

NSK Argentina SRL
Buenos Aires
54.11.4762.6556

Latin America

NSK Latin America Inc.
Miramar FL
1.305.477.0605

NSK Americas:
www.nskamericas.com

NSK Global:
www.nsk.com

Every care has been taken to ensure
the accuracy of the data contained in
this brochure, but no liability can be
accepted for any loss or damage
suffered through errors or omissions.

Printed in the USA ©NSK 2023.
The contents of the publication are
the copyright of the publishers.

MR -v3 / APC/ 23



http://www.nskamericas-literature.com/
http://www.nsk.com/

	TABLE OF CONTENTS 
	GENERAL INFORMATION, FEATURES AND CAD DATA DOWNLOADS 
	PRODUCT LINE
	APPLICATION EXAMPLES
	REFERENCE NUMBERS, MOTOR MOUNTING POSITIONS AND LIST OF MODULES 
	SINGLE AXIS SELECTION
	RS MODULE - LEFT MOTOR MOUNT
	RS MODULE - RIGHT MOTOR MOUNT
	RM MODULE
	RH MODULE
	RH EXT STROKE MODULE 
	MOTOR MOUNTING KITS
	MOTOR INTERFACE DIMENSIONS
	2 AXIS COMBINATION OVERVIEW
	Combination type: RG-MS
	Combination type: RG-HM
	Combination type: RD-MS
	Combination type: RD-HM
	Combination type: RX-HM
	Combination type: RX-HH
	Combination type: RC-MS

	3 AXIS COMBINATION OVERVIEW
	Combination type: RP-HMS
	Combination type: RP-MSS
	Combination type: RJ-HMS

	ACCESSORY SUPPORT SLIDE FOR COMBINATION TYPES: RG-HM & RP-HMS 
	COMBINING BRACKETS
	MODULE MOUNTING PLATES
	LIMIT SENSOR KITS
	SQUARE NUT FOR MODULE T-SLOTS




